standa 0. on 337
O E2 Vinkas, Lithusnia
Mone + JN0-5 20531474
Fam: & 30032651400
Eernail: salensi wlaala It

- Mamudacturer of Opto-Aachanical squipment for research, indastry and sducation e wes stnds b

Motorized Rotation Stage 8MR170-190
— 150 M5

for M6 screw
7 :_lenrclnce ch:ls

150
100




" standa

F.O. Bow 197

03012 Vilamid, Lithuasia
Phose 437051451474
Fa: +370-5- 2651443
E-rrgit: s standa it

B vonutacturer af Opte-Mechanical equipment for reseanch, industry and education et starda

Motorized Rotation Stage

8MR170-190V-VSS43-VC9

150 M5x7 deep
For M6 (1/4-20) screw 100 holes
Tcl lot
clearance slots \ AT
B173 (7") L1 ’
= 1 : i u
L‘Dl’ = | P S | & ﬁ.
QEDD 1 ! 1 A
T
I i
321
88,9
I : =
, =
M90x1
B8MS00V-10-004
£
I T
- *'_ _\f [
@190 @)\’y e "
@140
MEx17 dee =
& holes
M4x5 deep )-’: i ;
oles g - <




standa PO, Box 377
rir 3042 Vilsius, Lishuania

. Phani: +370-5-2851474

i :au -sms-muas"
dmrwummnpuummmmmmm,mmwmm Rty e sitandda If

8MR170V-190-V5S543-VGPL42-3.5-VCOM-FT

= 150 _ M7 deep
100 x/ B holes
A [

for M (1/4-20) screw
7 clearancesiots ™

vacuum compatible
stepper mator with
= gear drive

@43




